STFL—2IL—> KR-20H-m BAMEREH 20 ton

WL AE () (35)

S~
s § Se—
O,
o e T
~ ~ ——— T
g — — =
@ —~ = .4
Q
===
=

5,370 3,200 I,760—
10,330
- $#350
A4 QS
ﬁ é\ 7‘{ |
v S |
it ;i
: vamtl
= o |
[CL 0 \ |
LJ 1 A\ !
o cooo
—— i it | $888
¢ — M| ~ovw
T ° |
| 5 / |
b [
i 1
Y IS

T%
L=

; 5,800 ~
kY = \ r—
BEXEHHEK B5/NE A& R
40 ’ ‘ [ T [ [ T ] @ 2WAF7Y I THEITEHE
38 SN S S W ! ! = ©Ri=8.5m
26.1m7 — L+ TS 7 (£74 b5 ! | P (BBl #5313 )
36 2 | f +—+— 1 p— T ©Re-8.7Tm
» /’D Lo | 26Im7—L+TmZ7 (F745MT) | j /(/\é'L‘ (Bt Wk [ 9 1% )
pevta=<SUENERNNRY 7 s s T
# —T(l [ 26.7mT — L+ T T (47 2/30°) e B 0 (EEE )
. 30_;"? N T “Re=11.25m
T i v e Ty
E oo ‘*Q‘ 70 l ; ‘ N -\ 1 (7' — LseinEeniE)
60 |
B 2% I oam7 4l 73 © A=4.55m (X QB EAIE)
o2 / /\\ 50, - +B=4.55m (0B HIE)
— ! . +C=5.1m (¥ QHRE)
(m) 22 1 Zofl\,z}/;/_7 '<26v7:;?—b/ - cD=7.1m (7 —L%kukHQikEE)
20 — '\ 7 ]
[TV TANRE X
18 o 20.6m7 —L " «R;=4.9m
Sm7— L Y 30 14—~ e g
16 A N=RF—T (BBl $247%)
//O\H\ / \ \\ ©Re=5.1m
14 14§m7"/—A (M5t #is (O] 82 4% )
|z/ V pan X X( \ 20" \ + R3=5.85m
SIS TR NI \ BB ) enaie
| N O\l A\ 1 (7 — Ltk E b2
TSN =
sam7 2N\ M\ \} ~ s Ao=a.2n (EEAQHHE)
4 th YY t } l s A1=3.45m (EHEA 08 IRE)
SR s : {0 “ ©B = 3.45n (W DBIE)
m‘ l‘I l | I\ <G =4.2m (HEEHOERNE)
1 . N N -
0 2 4 6 8 10 12 14 16 18 20 22 24 26 28 30 32 *0 =6anm (7L AEBRE)
Eo% o 2 (m) () LROMIEGHEBTT

(38) AR T —LBIUSTOLEOBEEATLELA.



